LJ-1213

B.Com. (Part-III)
Term End Examination, 2021

Paper - 1

Income Tax

Time : Three Hours] [Maximum Marks : 75
[Minimum Pass Marks : 25

@t gl % I QST et g % s
T €
Note : Answer all questions. All questions carry equal
marks.

ZH18 / Unit-1
1. frafafea w fewfoer fafec .

(a) S STTHET H1 A

(b) AT g3 FQa iR =& H i
(¢) T 98 TWE A T oh AUAG
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(2)
Write notes on the following :
(a) Leave encashment

(b) Decmed assessee and assessee in default

(c¢) Previous year and exceptions of previous
year

S794q7 / OR

(o) T foaor & ouR W w-FHygRonad
2020-21 & fau fHo M= & w <fac
i TUET HIWT :

(/) $H ™ T 86,000
(i) R & TH8 3™ T 6,44,000

Compute the tax liability of Mr. Narendra
on the basis of following particulars for
the Assessment Year 2020-21 :

(i) ¢ Agricultural Income ¥ 86,000

(1)) Income from manufacturing Rubber
¥ 6,44,000

(b) TG TN 59 Ta a9 H 15 TE, 2019
H T o a9 TeAR (WRA) 9
AR & o W F UE WA W
I 25 WM, 2020 W YA: WRA dle
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(3)

3l iR TR T TH I § TS
YaY®h h d5 W Fgw gE 1| kA 98
‘Trardt’ /T ST ?

Miss Shobha Jain a citizen of India
(Jagdalpur), left India on 15th of May,
2019 for Singapore to stay with her
uncle. She came back to India on 25th
March, 2020 and joined the Assistant
Manager post in a company in. Raipur.
Say whether she will be considered
‘Resident’?

ZhTs / Unit-11

2. = gamell & &uR\ W weH wEfd 9
™ I UMD HiIfST;

T

3faa Tz 72,000

T fFqe X e 7,000 HATfEH
qlAch. feh = 60,000
TRATICTeRT Y 1 YIIdM

ferdl .91 oI T 20%

T a9 2018-19 10,000

T 98 2019-20 10,000

3= oA fae €
(@) T@ o8 H HHE T HE @l @I
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(4)

(b) H-Fulor ad 2018-19 H 7 a9ga 3T
fRE & ®AA MW W T Y
2019-20 ¥ ¥ 20,000 9T« FTI

(¢) 7 99 B¢ fhd o1 aga & H
¥5000 @4 g

(d T a9 H w&En fewa g gsu
% 12,000 |

Compute the income from house. property

from the following information

7
Fair rent 72,000

Let out House 7,000 p.m.
Standard rent 60,000
Municipal tax ‘paid

@ 20%_of M.V.

Previous Year 2018-19 10,000
Previous Year 2019-20 10,000

Other information are as follows :

(a) House remained vacant for two months
during the previous year.

(b) Unrealised rent allowed as a deduction
in the Assessment Year 2018-19 but
received during the Previous Year

2019-20 ¥ 20,000.
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(3)

(c) Expenditure incurred on collecting
unrealised rent ¥ 5,000.

(d) Arrears of rent received during the
Previous Year ¥ 12,000.

37947/ OR

g R FAR Tk wREH H 1 S,
2010 9 ¥ 12,000-1,000-24,000 da HMF (@
e g1 1 faamR, 2019 1 =AUR €€ g8H
& HROT S HI T qAT IHR! Yard AT
G M AR I o e | Tt
faarg srfufam & 1=wid %.2,00,000 &1 Of¥
gfayfd & ®9 § U ol 99 T=ggel Jam
sAfufTam, 1972 @, ST=FIA < 1,50,000 T=ggel
T i | 39 Wfd @630 Taq o1 it TR
T T SARYRR N aT g B % 96
39 8 Ue & 2Afd a&m & faw  1,68,000
1 AU g3 1 feam=Rr, 2019 &1 3T
¥ 30,0009 A% 1 TEA ART U H
F S Rt 7eM % guR & fau su9
U+ e 9 1 wEd, 2020 HI 4 HIE HI
oa A fa=m q°m ¥ 20,000 F1 MO T
T OFd gC fF Ja9 T "W W ugelt
fafs =1 <3 &, s-fAufor = 2020-21 &
fu STht Aaq IMHeh i AT 3T i
O Shifed |
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(6)

Mr. Akash Kumar was appointed in a factory
on Ist January, 2010 in the pay scale of
T 12,000-1,000-24,000. On 1Ist September,
2019 his services were terminated at the time
of retrenchment on account of closure of
business and he received a compensation of
¥ 2,00,000 from his employer under the
Industrial Disputes Act and he received, also
Gratuity ¥ 1,50,000 under the Payment of
Gratuity Act, 1972. He was entittled-to avail
earned leave of 30 days each year. At the
time of termination of Mis ‘service, he was
also paid ¥ 1,68,000«~.for 8§ months earned
leave not availed ©fiby him during the period
of service. On 1st. December, 2019 he got
another appointment on a monthly salary of
¥ 30,0005, On 1st February, 2020 in order to
meet the.expenses for repair of his home, he
recelved an advance of 4 months salary and
also took a loan of ¥ 20,000 from his
employer for the purupose. Determine his
taxable income under the head ‘Salaries’ for
the Assessment Year 2020-21 assuming that
the salary is due on the first of the next
month.
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(7)

1S / Unit-111

3. (o) T/ gawell § o= Wyl 9 g Wl

TI'UHTW:

(i) 3% ¥ 730,000 STER H e |

(i) IS A€ ¥ ¥ 1,00,000 STER H fier |

(iii) 39 fa@am® W ¥ 2,40,000 IR H
et |

(iv) Ra § faret 9Rd™ ¥ T 80,000
ISR H fhae

(v) 3T & 9 ¥ 28,000-STsR H foet |

(viy 9 | ¥ 1,00,000 1 BR IUER U
foe

Calculate income frem other sources from

the information'given below :

(i) Received ¥ 30,000 as a gift from his
friend.

(if)y~Received ¥ 1,00,000 as a gift from
his elder brother.

(7if) Received ¥ 2,40,000 as a gift on his
marriage.

(iv) Received ¥ 80,000 as a gift from his
NRI friend.

(v) Gift of ¥ 28,000 received from his
another friend.

(vi) Gift of a necklace worth ¥ 1,00,000
from his mother.
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(8)

(b) 1.8.1997 & #H f@EO”kt 4 Wk i
740,000 H WS 1.4.2001 1 THH
3fed oSk {ed ¥ 80,000 71 3.8.2019
& & faerdt 7 wie ¥ 15,00,000 H 99
foan qen Terell enfe fasha 9ea & 2%
& e & T 9T gfaed § 9 S
¥ 7,35,000 Ueh STEMEEA Wb & 1900
R = fohd S 30.6.2020 € qd &R
LRI | ) I Ele 1 L E o
faardl & 99 3T ®E @A HLIRH &l
2, L Tauicor o 2020-21-% fau Sge!
FERT St @i wr IRy F@ wif

On 1.8.1997 Mr.“Tiwari purchased a plot
for ¥ 40,000, The fair market value of

the plot on 1.4.2001 was ¥ 80,000. On
3.8.2019Mt. Tiwari sold the plot for
T 15,00,000 and paid brokerage etc.
@ 2% on sales consideration. Out of the

sales consideration he invested ¥ 7,35,000
in the construction of a residential house
which was completed before 30.6.2020.
Compute the taxable amount of capital
gains of Mr. Tiwari for the Assessment
Year 2020-21 assuming that he does not
own any other residential house.

3794971/ OR
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(9)
o So THo W TH fafrcds 1S4

31.3.2020 I GHAT BM acl 99 & Hey |
ks @ w1 F= d@ew feo

() ()

I 10,000 [SaTET T fertrn | 18,000
WY Ik 60,000 [Garatl &1 WlT | 38,000
M HIYeh | 45,000 [RIE H o 24,000
92 q1 ITER 8,000 (I I 40,000
TRt &t fosnt 42,000 [HIX FHHE 8,000
UTI | STt 6,000 [HIZ R T BT [1,40,000
St s wiferst
RIECEEK| 1,00;000.[sRe] =5 7,000
T w2
TS § S 6,000 |99 2,000

2,77,000 2,77,000
AT

(a) R & 50% @o U9 & faq fhy U
HR fegrr, 2019 H WS TE et

() R @9 H ¥ 6,800 Sitad &A1 WHIH

e €1
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(10)

(¢) STRI ¥ ¥ 3,000 RFdeRl & 9y snfaa

(d) 1.4.2019 @I <Al &1 WA T 4,000
or 3R eifqm wfaam ¥ 12,000 T
F-fAuior 99 2020-21 & fau 99 9
I AT SIS

Dr. J. S. Khalsa is Medical Practitioner...He
gives you the following summary of cash

book for the year ending 31.3.2020 :

(%) (%)
To Balance 10,000 | By Rént of Clinic| 18,000
To Consultation
fees 60,0004 By Purchase of
Medicine 38,000

To Visiting fees 45,000 | By Staff Salaries | 24,000
To Gifts and By Surgical
Presents 8,000 | equipments 40,000
To Sale of By Motor car
medicines 42,000 | expenses 8,000
To Dividend Purchase of
from UTI 6,000 | Motor car 1,40,000
To Life Insurance By Household
Maturity 1,00,000 | expenses 7,000
To interest from
N.S.C. 6,000 | By Balance 2,000

2,717,000 2,717,000
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(11)

Other information :

(a) 50% of the motor car expenses incurred
in connection with the profession, car
was purchased in December, 2019.

(b) Household expenses include ¥ 6,800 for

Life Insurance Premium.

(c¢) Gifts and presents include ¥ 3,000 from
relatives.
(d) Closing Stock of medicine was ¥ 12,000

and Opening Stock was 4,000 on
1.4.2019.

Compute his income from profession for the
Assessment Year 2020-21.

TS / Utiit-IV

4. A,B Td C Th FHH'H TR & HEER ® |
T 98 H BHLFHI 3 W G efafed
T

(d) SR ¥ &9
(TTEERl 1 99 ¥eM % 91€)  2,00,000

(b) rERTE ISt Y 1,00,000
(¢) d% SH W AN 50,000
(d) dERR w1 wigtas 1,80,000
(e) TENTYd B 30,000

(f) M o TE st ' 2,00,000
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(12)

z
(g) fAfde wwfaai o

fafram (gt o) 30,000
(h) ISt @9 W R

1988 ° I 30,000

TH I FHA M T K QA H TOH]
SHIfST |

A, B and C are equal partners in a firm. For
the previous year the particulars of the.income
of the firm are given below :

T

(a) Profit from business after

deducting remuneration” of

partners 2,00,000
(b) Long-term <apital gains 1,00,000
(c¢) Interest on,Bank deposit 50,000
(d) Remuneration to partners 1,80,000
(e) «Unabserbed depriciation 30,000

(f) _Brought forward business loss 2,00,000
(g)“Capital gain invested in

specified assets 30,000
(h) Amount deposited in Capital
Gains A/c Scheme 1988 30,000
Compute the total income and tax liability of
the firm.
37Ydr / OR
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(13)

& feg stfawifoa 9femR &t fr= gEmed
q F-FgR0 a¥ 2020-21 & faU o 3™
Tl X I i TTOMET HiWT

?
OIEENEIREER 52,500
(i) YW Hafya == 4,500

(iii) T AR HOA] H TS 10,000
(iv) I3 & wa-fara &

g § oY 10,00,000
(v) STEH (iv) R IR erTeT

RLETECCap| 1,15,000
(vi) Uoh H o @19 | e 9,500
(vii) STEIETE STt BT 7,900
(viii) STETRTCA oit g1 5,000
(i) T=d T W A 10,000

(x) STHIfcd F¥M I 9% N TH 10,000

From the following detail of HUF, calculate
the total income and tax liability for the
Assessment Year 2020-21 :
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S.

@
(i)

(ii)
(iv)
v)
(vi)
(vii)
(viii)
(ix)

(x)

(14)

Gross agriculture income

Expenses incurred in
connection with agriculture

Dividend from an Indain
company

Profit from the business of
purchase and sale of shares

Tax paid on Securities
transaction on above (iv)

Share on the profit of a firm
Long-term capital loss
Short-term capital-loss

Interest on Savings
Bank Account

Donation to an approved
institution by cheque

Zh18 / Unit-V

?
52,500

4,500

10,000

10,00,000

1,15,000
9,500
7,900
5,000

10,000

10,000

O w-Truier | ey @ wEed 7 U®

fr offeafal o feran s @ 2

What do you understand by Reassessment ?

In what circumstances is it done ?

37947 / OR
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(15)

T HU b b dAS AYAT IR
FHHIR & ATYFR H1 F0H HiT |

Describe the powers of Central Board of
Direct Taxes or Commissioner of Income Tax.
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